Step 3 Assessment Matrix
Note: this document should not be interpreted in isolation and should be read in conjunction with the explanation and cautionary notes in Chapter 3: Topic Assessments
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Towns (Planning assumption of at least 500 dwellings at area of search. except Bishop's Stortford North which has a planning assumption of 3.000) _ _
1 Bishop’s Stortford Built Up Area G A A A A G G G A A A G G G G G G A G G A
Bishop’s Stortford North (A) A A A E A G A G i G
2 [Bishop's Stortford North (B) G G G R T R | A A G A A G G A A G G A G A
Bishop’s Stortford North (C) A A A G A G G G A A
Bishop'’s Stortford East (A) G TBD G A A G A
® _ [Bishop's Stortford East (8) -T A e A G e e A G G A e e
Bishop’s Stortford South (A) G G G
4  |Bishop’s Stortford South (B) G G TBD G A A A G
- - A G
Bishop’s Stortford South (C) G G
5 Buntingford Built Up Area A A A A G G G G G G G
Buntingford South and West (A) G G G A
6 Buntingford South and West (B) G A G A A G G G A G G A
Buntingford South and West (C) G G A G
Buntingford North (A) G A A A A A
! Buntingford North (B) A A A A G G A A G A e G
Buntingford North-East (A) G A A A G
8 Buntingford North-East (B) G G A A G G A A G A G e
9 Buntingford East G G G A A G G A A G A G G
10  |Hertford Built Up Area G A G G G G G G G A G G A
Hertford West (A) G A A G A G
1 Hertford West (B) - G G G G A A A A G e A
Hertford North (A) G A G G A A
12 |Hertford North (B) G G A A A A G A G A
Hertford North (C) & A A A R A | G
Hertford South (A) G A A A q A G G A
Hertford South (B) A A A
13 G A A G A A
Hertford South (C) G G A A
Hertford South (D) A G G
14 |Sawbridgeworth Built Up Area R A | G G G G
Sawbridgeworth South-West (A) A G G
15 Sawbridgeworth South-West (B) G G A G A A G A G G
16 |Sawbridgeworth West (A) G A A TBD A G
Sawbridgeworth West (B)
Sawbridgeworth North (A)
17  |Sawbridgeworth North (B) A A G A G
Sawbridgeworth North (C) G
18  |Ware Built Up Area A A G G G G
19 |Ware North (A) A A G A G A G
Ware North (B) A G A
Ware East (A) - A
20 A A G G
Ware East (B) G
Ware South-East (A) A A A
21 Ware South-East (B) G A e A G A G A
22 |Ware South-West G G G A A G G -
Villages (Planning assumption of existing village + 10% growth)
23 |Aston (excluding Aston End) G G G G G A A G
24 |Bayford G G G G G A A A
25 |Benington G G G G G A -I:
26  |Birch Green G G G G G A G A
27 |Braughing G G G A G A G G
28 |Brickendon G G G G G A A A |




Step 3 Assessment Matrix
Note: this document should not be interpreted in isolation and should be read in conjunction with the explanation and cautionary notes in Chapter 3: Topic Assessments

sjoedw| 8SION'ZZ,

diyspiemalg
|ejuswuodIAUg "2

suoijeolisse|) pue
[eanynouby "0g

<

suoneubisaq 9)sep
pue sjeJaull ‘61

sanljioey
Alunwwo? gL

spwi Arepunog “/)

sdeo) oibajens ‘9|

o

o

<

}iag usai9 ‘Gl

Ayjinbuen)|
Buiurejurep ‘v

J3joeiey)|
adeospue "¢}

S}aSSY JMOISIH "Z)

saNs appimj
pajeubisaq ||

3SIY pooid 01

joeduwf
13)Jep\ 9)SeM 6

SERIVNETS
|1ey 0} SS329Y °g

S92IAI9G
sng 0} sSa29Yy *2

S§S92JY Je|ndIyaA "9f

ainjonuysequ|
sAemybiH ‘g

sjooyos
aIppIN/A1epuodas 'y

sjooysg Alewd °g

lenuajod
jusawAhojdwz g

Ayjgejieay pue -y

Extensions to Adjacent Settlements (Planning assumption of 1,500-10,000 dwellings)

New Settlements (Planning assumption of 5,000 dwellings)

[2]
2]
15}
—
@©
D >
© =
= O
-+ [y
n % ©
—_
P AL ERREEER
S = HO[HEE 321218
o = |z 8 2 slclz|z|3|3
5 Sl=ls|Els e|€ 3 S HBEEEE EHMMEEEE
o =lolslc|a ®© < = 21zl=l=l=|s sls o
cl|© clo olo c|®lclo ) %) [+] K= K] Re) (o] Ke] kel ko] ke)
(2] c W_u_l ol B K ol X = ! o) K4 S|T|ZE|E|EI<
[0] el k= [*B =3 171 i3 T| o T|T ) = -l|= = TITZ|TIT L2181l
522 slelelx|Elelslel el s eIBlels] 8] <] sls| [Bl=|El<|5]F]= olIlzlzlzls clEl 9|9l 9ls
M S G1 L M HEIN E B iR E R R bE E E E R sI3lalslels|ERIZlss] el el el e =] §<] (&) [&] (8] K]
s l<lolllelels|elmslclSlElSl2] el alolsI<IEIRI 2l Sl el 218 12]el8]E]L 2l2lslslslslsICIllolx ol 2
S I A H R R E B E R N E E E B EE B R ER B BEHE R E EE E R e n|lolElElE|E olo|N|olo] e
=4 1] [&] [5] (] [a] [a] [ (] s bnnf b s s frmf ) i b= [ 175 1751 1] 72 el et e B B 5 2] D] ] =4 4 4 P 1) 2 R P B =
DO~ |N|DNTFTIO]OINOIDIO]I~IN|DTID]OINOIDO—|N[DTFIO|OIN |0 (@] R N ™ <I|IO|OIN]OID
[aV]l kel Kep) Kep) Kerl Kol Kord Kend Kep) Kool Kool A sl ANdl Anul Ao B ol Al Bl Bl Bl 1522 122 %21 L1 L1 L2 122 Li2] L2l L'e] [(e] (o) © © [(e] [{o] [{e] [{e] (o] (o]




